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STUDENT:
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HOMEWORK

We consider two bases of vectors of a plane: 
   - canonical 
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 and 
   - based formed by two vectors [image: image2.png]
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, whom we know that [image: image4.png]


= 2[image: image5.png]


 + [image: image6.png]
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1) If components of a vector[image: image10.png]


in base [image: image11.png]


 and [image: image12.png]


 are (3,-3), calculate components of [image: image13.png]


 in the base[image: image14.png]
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.


2) if components of a vector[image: image16.png]=)



in base [image: image17.png]
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are (-2,3), calculate components of[image: image19.png]=)



in the base[image: image20.png]
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.

3) Do a graphic where are represented the two bases ([image: image22.png]


, [image: image23.png]


and[image: image24.png]


,[image: image25.png]


) and two vectors[image: image26.png]
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